2014 Parkway Tree Planting Program

STATE OF ILLINOIS VILLAGE OF HOFFMAN ESTATES TABULATION OF BIDS

2014 Parkway Tree Planting Progarm

County: Cook Date: February 24, 2014			Arthur Weiler Inc		Acre's Group		St Aubin Nursery		Davey Tree Expert Co.		Beary Landscaping Inc		Alaniz Landscape	
Municipality or Road District: Hoffman Estates Time: 9:00														
Section: Appropriation	-	COMPANY	(Weiler	Nursery)	(Goodmark Nursery)		(St Aubin Nursery)		(Goodmark Nursery)		(Cedar Path Nursery)		(Cedar Pa	ath Nursery)
Estimate \$ Attended by:	Kelly Kerr													
Proposal Guarantee:		BID CHECK	Y	'es	Yes		Bond		Bond				Bond	
Terms:														
2014 Proposed Cost Shade Trees		QUANTITY	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
Acer x freemanii - Freeman Maple Autumn Blaze'		50-80	\$0.00	\$0.00	\$255.00	\$20,400.00	\$260.00	\$20,800.00	\$420.00	\$33,600.00	\$298.00	\$23,840.00	\$249.00	\$19,920.00
Acer platanoides - Norway Maple Emerald Lustre' or 'Eme	rald Queen'	30-60	\$0.00	\$0.00	\$245.00	\$14,700.00	\$260.00	\$15,600.00	\$401.00	\$24,060.00	\$258.00	\$15,480.00	\$195.00	\$11,700.00
Acer platanoides - Norway Maple (Red Leaf) 'Crimson King	g' or 'Royal Red'	30-60	\$295.00	\$17,700.00	\$0.00	\$0.00	\$275.00	\$16,500.00	\$408.00	\$24,480.00	\$288.00	\$17,280.00	\$223.00	\$13,380.00
Acer miyabei - State Street Maple		30-60	\$0.00	\$0.00	\$255.00	\$15,300.00	\$260.00	\$15,600.00	\$414.00	\$24,840.00	\$283.00	\$16,980.00	\$219.00	\$13,140.00
Platanus x acerifolia - London Plane Tree		10-25	\$0.00	\$0.00	\$252.00	\$6,300.00	\$260.00	\$6,500.00	\$415.00	\$10,375.00	\$288.00	\$7,200.00	\$227.00	\$5,675.00
Gleditsia triacanthos 'inermis'-Thornless Honeylocust 'Skyli	ine' or 'Shademaster'	50-80	\$205.00	\$16,400.00	\$245.00	\$19,600.00	\$245.00	\$19,600.00	\$376.00	\$30,080.00	\$283.00	\$22,640.00	\$194.00	\$15,520.00
Tilia cordata - Littleleaf Linden 'Glenleven' or 'Greenspire'		30-60	\$250.00	\$15,000.00	\$245.00	\$14,700.00	\$260.00	\$15,600.00	\$375.00	\$22,500.00	\$283.00	\$16,980.00	\$199.00	\$11,940.00
Tilia Americana - American Linden		30-60	\$0.00	\$0.00	\$245.00	\$14,700.00	\$260.00	\$15,600.00	\$389.00	\$23,340.00	\$283.00	\$16,980.00	\$199.00	\$11,940.00
Tilia tomentosa - Silver Linden		0-20	\$0.00	\$0.00	\$245.00	\$4,900.00	\$260.00	\$5,200.00	\$395.00	\$7,900.00	\$289.00	\$5,780.00	\$229.00	\$4,580.00
Gymnocladus dioicus - Kentucky Coffeetree		10-30	\$0.00	\$0.00	\$300.00	\$9,000.00	\$300.00	\$9,000.00	\$464.00	\$13,920.00	\$332.00	\$9,960.00	\$258.00	\$7,740.00
Quercus bicolor - Swamp White Oak		0-15	\$285.00	\$4,275.00	\$255.00	\$3,825.00	\$260.00	\$3,900.00	\$426.00	\$6,390.00	\$315.00	\$4,725.00	\$243.00	\$3,645.00
Quercus macrocarpa - Bur Oak		0-15	\$295.00	\$4,425.00	\$275.00	\$4,125.00	\$260.00	\$3,900.00	\$451.00	\$6,765.00	\$378.00	\$5,670.00	\$273.00	\$4,095.00
Quercus muehlenbergii - Chinkapin Oak		0-15	\$0.00	\$0.00	\$275.00	\$4,125.00	\$260.00	\$3,900.00	\$450.00	\$6,750.00	\$373.00	\$5,595.00	\$276.00	\$4,140.00
Quercus imbricaria - Shingle Oak		0-15	\$0.00	\$0.00	\$275.00	\$4,125.00	\$290.00	\$4,350.00	\$449.00	\$6,735.00	\$378.00	\$5,670.00	\$269.00	\$4,035.00
Quercus rubra - Red Oak		0-15	\$0.00	\$0.00	\$255.00	\$3,825.00	\$260.00	\$3,900.00	\$426.00	\$6,390.00	\$315.00	\$4,725.00	\$238.00	\$3,570.00
Catlapa speciosa - Catalpa		10-30	\$0.00	\$0.00	\$245.00	\$7,350.00	\$260.00	\$7,800.00	\$389.00	\$11,670.00	\$305.00	\$9,150.00	\$247.00	\$7,410.00
Betula nigra - River Birch		25-50	\$0.00	\$0.00	\$245.00	\$12,250.00	\$260.00	\$13,000.00	\$415.00	\$20,750.00	\$298.00	\$14,900.00	\$227.00	\$11,350.00
Liriodendron tulipifera - Tuliptree		30-60	\$0.00	\$0.00	\$255.00	\$15,300.00	\$260.00	\$15,600.00	\$425.00	\$25,500.00	\$373.00	\$22,380.00	\$263.00	\$15,780.00
Liquidambar styracilus - Sweet Gum		0-20	\$0.00	\$0.00	\$255.00	\$5,100.00	\$280.00	\$5,600.00	\$425.00	\$8,500.00	\$373.00	\$7,460.00	\$251.00	\$5,020.00
Celtis occidentalis - Hackberry		0-30	\$0.00	\$0.00	\$255.00	\$7,650.00	\$280.00	\$8,400.00	\$439.00	\$13,170.00	\$298.00	\$8,940.00	\$217.00	\$6,510.00
Ginkgo biloba - Ginkgo		10-25	\$0.00	\$0.00	\$355.00	\$8,875.00	\$330.00	\$8,250.00	\$500.00	\$12,500.00	\$412.00	\$10,300.00	\$321.00	\$8,025.00
Ulmus 'Morton' - Accolade Elm		40-80	\$0.00	\$0.00	\$274.00	\$21,920.00	\$260.00	\$20,800.00	\$450.00	\$36,000.00	\$298.00	\$23,840.00	\$224.00	\$17,920.00
Ulmus x 'Morton Glossy' - Triumph Elm		40-80	\$250.00	\$20,000.00	\$255.00	\$20,400.00	\$260.00	\$20,800.00	\$426.00	\$34,080.00	\$298.00	\$23,840.00	\$223.00	\$17,840.00
Ulmus x 'Frontier' - Frontier Elm		5-20	\$245.00	\$4,900.00	\$278.00	\$5,560.00	\$270.00	\$5,400.00	\$450.00	\$9,000.00	\$298.00	\$5,960.00	\$224.00	\$4,480.00
Taxodium distichum - Baldcypress		30-60	\$0.00	\$0.00	\$260.00	\$15,600.00	\$260.00	\$15,600.00	\$405.00	\$24,300.00	\$269.00	\$16,140.00	\$209.00	\$12,540.00
Aesculus ffava - Yellow Buckeye		30-60	\$0.00	\$0.00	\$325.00	\$19,500.00	\$270.00	\$16,200.00	\$480.00	\$28,800.00	\$405.00	\$24,300.00	\$307.00	\$18,420.00
Alnus glutinosa - Black Alder		30-60	\$0.00	\$0.00	\$0.00	\$0.00	\$260.00	\$15,600.00	\$405.00	\$24,300.00	\$249.00	\$14,940.00	\$174.00	\$10,440.00
														\$0.00
	Total Bid			\$82,700.00		\$279,130.00		\$313,000.00		\$496,695.00		\$361,655.00		\$270,755.00
F						,		. ,				,		
<u> </u>														

2014 PARKWAY TREE PLANTING PROGRAM

STATE OF ILLINOIS VILLAGE OF HOFFMAN ESTATES TABULATION OF BIDS 2014 Parkway Tree Planting Program

County: Cook Date: February 24, 2014 Municipality or Road District: Hoffman Estates Time: 9:00 a.m. Section: Appropriation \$ Estimate \$ Attended by: Kelly Kerr	COMPANY	Arthur Weiler Inc		Acre's Group		St Aubin Nursery		Davey Tree Expert Co.		Beary Landscaping Inc		Alaniz Landscape		
Proposal Guarantee: Terms:														
2014 Proposed Cost Ornamental Trees	QUANTITY	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total			
Acer tataricum - Tartarian Maple	0-25	280.00	7,000.00	345.00	8,625.00	270.00	6,750.00	445.00	11,125.00	373.00	9,325.00	276.00	6,900.00	
Acer campestre - Hedge Maple	0-25	270.00	6,750.00	265.00	6,625.00	270.00	6,750.00	450.00	11,250.00	298.00	7,450.00	219.00	5,475.00	
Acer ginnala - Amur Maple Tree Form	0-10	0.00	0.00	265.00	2,650.00	270.00	2,700.00	439.00	4,390.00	373.00	3,730.00	278.00	2,780.00	
Amelanchier - Serviceberry Tree Form	10-25	0.00	0.00	265.00	6,625.00	280.00	7,000.00	440.00	11,000.00	308.00	7,700.00	253.00	6,325.00	
Malus Species - Ornamental Crabapple 'Spring Snow'	0-10	195.00	1,950.00	242.00	2,420.00	230.00	2,300.00	395.00	3,950.00	245.00	2,450.00	151.00	1,510.00	
Malus species - Ornamental Crabapple 'Red Baron'	0-10	199.00	1,990.00	0.00	0.00	230.00	2,300.00	405.00	4,050.00	245.00	2,450.00	149.00	1,490.00	
Malus Species - Ornamental Crabapple - 'Prairie Fire'	0-10	199.00	1,990.00	238.00	2,380.00	240.00	2,400.00	400.00	4,000.00	245.00	2,450.00	150.00	1,500.00	
Crataesus Crus-Gnli Inermis-Thornless Cockspur Hawthorn	0-20	195.00	3,900.00	220.00	4,400.00	260.00	5,200.00	355.00	7,100.00	268.00	5,360.00	184.00	3,680.00	
Pyrus calleryana - Callery Pear Autumn Blaze	40-80	245.00	19,600.00	245.00	19,600.00	260.00	20,800.00	405.00	32,400.00	299.00	23,920.00	234.00	18,720.00	
Syringa reticulata - Japanese Tree Lilac 'Ivory Silk'	30-60	0.00	0.00	299.00	17,940.00	330.00	19,800.00	395.00	23,700.00	315.00	18,900.00	238.00	14,280.00	
Magnolia acuminata - Cucumber Magnolia	20-40	0.00	0.00	0.00	0.00	290.00	11,600.00	460.00	18,400.00	369.00	14,760.00	276.00	11,040.00	
Magnolia stellata - Star Magnolia	0-5	0.00	0.00	0.00	0.00	290.00	1,450.00	408.00	2,040.00	369.00	1,845.00	277.00	1,385.00	
Total Bid			\$43,180.00		\$71,265.00		\$89,050.00		\$133,405.00		\$100,340.00		\$75,085.00	
	0-5	0.00		0.00			·		,	369.00	,	277.00		

VILLAGE OF HOFFMAN ESTATES TABULATION OF BIDS 2014 Parkway Tree Planting Program

Cornus sericea - Dogwood 'Isanti' or 'Alleman's Compact'

2014 PARKWAY TREE PLANTING PROGRAM

0-5

Total Bid

2014 Total Bid

\$30.00

\$150.00

\$7,987.00

\$133,867.00

\$46.00

\$230.00

\$8,503.00

\$358,898.00

\$33.00

County: Cook Date: February 24, 2014 Municipality or Road District: Hoffman Estates Time: 9:00 a.m. Section: Appropriation \$ Estimate \$ Attended by: Kelly Kerr	COMPANY	Arthur Weiler Inc		Acre's Group		St Aubin Nursery		Davey Tree Expert Co.		Beary Landscaping Inc		Alaniz Landscape	
Proposal Guarantee: Terms:													
2014 Proposed Cost Evergreens & Shrubs	QUANTITY	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total		
Thuja occidentalis - Arborvitae 'Techny' or Pyramidal American'	0-10	\$205.00	\$2,050.00	\$158.00	\$1,580.00	\$140.00	\$1,400.00	\$245.00	\$2,450.00	\$220.00	\$2,200.00	\$145.00	\$1,450.00
Picea pungens - Colorado Blue Spruce 'Hoopsi'	0-3	\$600.00	\$1,800.00	\$330.00	\$990.00	\$240.00	\$720.00	\$440.00	\$1,320.00	\$383.00	\$1,149.00	\$184.00	\$552.00
Euonymus alatus - Burning Bush 'Rudy Haag' or 'True Dwarf'	0-10	\$30.00	\$300.00	\$48.00	\$480.00	\$33.00	\$330.00	\$105.00	\$1,050.00	\$33.00	\$330.00	\$39.00	\$390.00
Spirea japonica - Spirea 'Shirobana' or 'Little Princess'	0-6	\$32.00	\$192.00	\$39.00	\$234.00	\$33.00	\$198.00	\$97.00	\$582.00	\$39.00	\$234.00	\$31.00	\$186.00
Syringa meyeri - Dwarf Korean Lilac	0-6	\$50.00	\$300.00	\$46.00	\$276.00	\$33.00	\$198.00	\$102.00	\$612.00	\$47.00	\$282.00	\$51.00	\$306.00
Syringa pubescens subsp. Patula - Dwarf Licac "Miss Kim"	0-10	\$40.00	\$400.00	\$48.00	\$480.00	\$33.00	\$330.00	\$103.00	\$1,030.00	\$47.00	\$470.00	\$37.00	\$370.00
Viburnum dentatum - Arrowwood Viburnum 'Autumn Jazz' or 'Chicago Lusture'	0-6	\$30.00	\$180.00	\$48.00	\$288.00	\$33.00	\$198.00	\$98.00	\$588.00	\$39.00	\$234.00	\$28.00	\$168.00
Taxus media - Japanese Yew (low growing variety)	0-15	\$65.00	\$975.00	\$72.00	\$1,080.00	\$48.00	\$720.00	\$116.00	\$1,740.00	\$54.00	\$810.00	\$45.00	\$675.00
Buxus microphlylla - Boxwood 'Wintergreen' or 'Green Velvet'	0-25	\$60.00	\$1,500.00	\$105.00	\$2,625.00	\$48.00	\$1,200.00	\$129.00	\$3,225.00	\$49.00	\$1,225.00	\$49.00	\$1,225.00
Ribes Alpinum - Alpine Currant	0-5	\$28.00	\$140.00	\$48.00	\$240.00	\$33.00	\$165.00	\$101.00	\$505.00	\$47.00	\$235.00	\$28.00	\$140.00

\$100.00

\$500.00

\$13,602.00

\$643,702.00

\$39.00

\$195.00

\$7,364.00

\$469,359.00

\$31.00

\$155.00

\$5,617.00

\$351,457.00

\$165.00

\$5,624.00

\$407,674.00

2014 PARKWAY TREE PLANTING PROGRAM

STATE OF ILLINOIS VILLAGE OF HOFFMAN ESTATES TABULATION OF BIDS 2014 Parkway Tree Planting Program

County: Cook Date: February 24, 2014 Municipality or Road District: Hoffman Estates Time: 9:00 a.m. Section: Appropriation \$ Estimate \$ Attended by: Kelly Kerr	COMPANY	Arthur Weiler Inc		Acre's Group		St Aubin Nursery		Davey Tree Expert Co.		Beary Landscaping Inc		Alaniz L	andscape
Proposal Guarantee: Terms:													
2014 Proposed Cost - Shade Trees 4" diameter trees cost sharing/upsizing	QUANTITY	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total		
Acer xfreemanii - Freeman Maple 'Autumn Blaze'	5-15	\$480.00	\$7,200.00	\$540.00	\$8,100.00	\$440.00	\$6,600.00	\$632.00	\$9,480.00	\$479.00	\$7,185.00	\$301.00	\$4,515.00
Gleditsia Triacanthos 'inermis' - Thornless Honeylocust 'Skyline'/Shademaster	5-10	\$440.00	\$4,400.00	\$485.00	\$4,850.00	\$470.00	\$4,700.00	\$551.00	\$5,510.00	\$449.00	\$4,490.00	\$314.00	\$3,140.00
Pyrus calleryana - Callery Pear 'Autumn Blaze"	5-15	\$500.00	\$7,500.00	\$588.00	\$8,820.00	\$470.00	\$7,050.00	\$595.00	\$8,925.00	\$479.00	\$7,185.00	\$378.00	\$5,670.00
Taxodium distichum - Baldcypress	5-10	\$420.00	\$4,200.00	\$585.00	\$5,850.00	\$490.00	\$4,900.00	\$620.00	\$6,200.00	\$429.00	\$4,290.00	\$317.00	\$3,170.00
Tilia americana - American Linden	5-10	\$440.00	\$4,400.00	\$480.00	\$4,800.00	\$470.00	\$4,700.00	\$508.00	\$5,080.00	\$449.00	\$4,490.00	\$297.00	\$2,970.00
Ulmus x 'Morton' - Accolade Elm	5-10	\$460.00	\$4,600.00	\$525.00	\$5,250.00	\$440.00	\$4,400.00	\$582.00	\$5,820.00	\$459.00	\$4,590.00	\$359.00	\$3,590.00
Total Bid			\$32,300.00		\$37,670.00		\$32,350.00		\$41,015.00		\$32,230.00		\$23,055.00